FA SHSHAL
M 42 JIB0l8 & 43 (sHidsb/=sY - 55
Chel: s&E JISAS e EER=E)
SA - ZH - C9I(B) - HIRAY - BaS ol ko o 8 o HImS2
sASHTAA 3,296,515 3,281,491 15,024
= 155,000 155,000 0
< 3,141,515 3,126,491 15,024
SHE JIS0I8 R 4BNL(sEidstl/se - s&) 2,802,210 2,773,950 28,260
z 155,000 155,000 0
< 2,647,210 2,618,950 28,260
sSHE JIBaS Y 1,771,695 1,777,100 Ab,405
ras 155,000 155,000 0
< 1,616,695 1,622,100 15,405
SHE JIBAE0 28 AR 50,940 51,440 2500
202 04t 10,940 11,440 2500
01 =LHoi 10,940 11,440 A500
OsdtE JI8dE A+ S22 I 5,500 6,000 2500
SsSt=E 0|8 ddS g d+ 39,445 39,450 Ja%s
101 QI24H| 26,99 27,000 NS}
M IRIMZZ2XNSE S 26,99% 27,000 JaN
ogERYg=2 5,489 5,4% JaN
NASSASII2HL(NHSSSES 0188 S+ 100,000 100,000 0
ASs g ¢7)(210)
= 50,000 50,000 0
< 50,000 50,000 0
101 QI24H| 25,826 27,000 21,174
= 12,913 13,500 NB87
& 12,913 13,500 £587
M IRMZZ2HS e 25,826 27,000 A1,174
OgdRE= 4,320 5,494 A1174
= 2,160 2,747 ~587
< 2,160 2,747 A587
207 AR 57,674 56,500 1,174
z 28,837 28,250 587
< 28,837 28,250 587
03 Al 328 57,674 56,500 1,174
o=+ I3 AZEIN ¥ 2ME 7Y S 21,174 20,000 1,174
= 10,587 10,000 587
< 10,587 10,000 587
KNSESRSI M (FA 280180l & 23| 90,000 90,000 0
E &F L) (=21)
z 45,000 45,000
< 45,000 45,000
101 QIAHI 26,936 27,000 A4
z 13,468 13,500 AR
< 13,468 13,500 AR
M IRIMZZ2HES e 26,936 27,000 N4
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FA SHSHAL
M S JIB0l8 & 43 (sEidbl/sY - 55)
Chel: s&E JISAS e EER=E)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
ogdRe=s S 5,430 5,4% et
= 2,715 2,747 AR
& 2,715 2,747 AR
207 ARl 47,064 47,000 64
z 23,532 23,500 2
< 23,532 23,500 2
03 Al =2t 47,064 47,000 64
OLH LEAE A & 2lME 72 S 22,084 22,000 64
z 11,032 11,000 32
< 11,032 11,000 2
dE sttE 243 HE 65,300 67,500 22,200
201 er23 | 18,800 20,000 21,200
01 At2teltl 18,800 20,000 21,200
OR=dE 245 & Sz WEME JDJIA
822 S 18,800 20,000 21,200
207 ARl 44,000 45,000 21,000
03 Al 2HI 44,000 45,000 21,000
O+ B2 SE4EIIE AlY 28 S 44,000 45,000 21,000
KNSHIELIA BdEE A8 AHIA XS sAIS N 66,300 69,000 22,700
=
207 ARl 65,300 63,000 22,700
01 2 E Y| 38,800 40,000 A1,200
OXIFHIELIA 2det A4 24 & AE
= 38,800 40,000 21,200
03 Alg e 72t] 26,500 28,000 21,500
OJI=E HEE A2 2 22 FHl S 26,500 28,000 21,500
AL 3F 2L 1,030,515 996,850 33,665
ANEE & =2 609,850 564,850 45,000
201 LEH2 | 609,850 564,850 45,000
2 S52g4l 577,750 532,750 45,000
OSSAEATHE &= 385,000 340,000 45,000
ASAZ 010 7L 29,513 32,000 N2,487
405 THEFSHI 29,513 32,000 22,487
01 IR ESFSHI 29,513 32,000 N2,487
OAEAZHIII 29,513 32,000 N2,487
O8=t 7¢ 29,370 30,000 2630
Oxg=25 S 2UAH 143 2,000 A 1,857
ESEHRME X MEEX X 391,152 400,000 18,848
401 AIEHIZL 20| 391,152 400,000 18,848
01 AlEZHI 369,842 376,000 26,158
ONUXNIMEEX &AL 20,600 22,000 21,400
OUUHXIMNEEX SAHI 349,242 354,000 N4,758
02 2eld| 20,600 22,000 21,400
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